
Math 001- 53 , Quiz 2  (Textbook P.3 – P.5), Term 181 , Instructor: Sayed Omar,    26-Sep-18 

Math 001- 53 ,  Quiz 2  (Textbook P.3 – P.5), Term 181 , Instructor: Sayed Omar,    26-Sep-18 

Serial #: ________       ID _____________ NAME _______________________________________ 
Show all necessary steps for full marks. 
Question 1: (5 points):    Simplify the following expressions: (Assume 0,  0,  and 0a b c≠ ≠ ≠ ) 
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Question 2: (5 points):  (P.4 Textbook Exercises 39, 62 and 84):  Simplify the following expressions 
(Assume that all letters denote positive numbers.) 
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Question 3: (5 points):   If the coefficient of 4x  in the product ( )2 4 3 2( ) 3 2 1bx x x x x+ − + +  is equal 
to zero, then find the value of b  
 
Solution:  The product of  2bx  and 2x  is 4bx .  The product of  x  and 32x−  is 4 2x− . 
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                  2 0
2

b
b

− =
=

 

  
 



Math 001- 53 , Quiz 2  (Textbook P.3 – P.5), Term 181 , Instructor: Sayed Omar,    26-Sep-18 

Math 001- 53 ,  Quiz 2  (Textbook P.3 – P.5), Term 181 , Instructor: Sayed Omar,    26-Sep-18 

 

Question 4: (5 points):     If 2
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Solution: 

 
 


